WX E 2 P EA BRI — R (—)
B 27 B mas RS | s e
I B 16.15  |PTARSAH 19. 996 | iM% -1 3. 846
HYEIHE 17.6 |dbst 50.4 | B TIE 32.8
Ei&/Nit 36. 646
EE 5T % 0 |ZHERE 10.75 | MLSCH 10.75
KK B 0 |THF 24.3 | RMH 24.3
R 0 |RTIN 23.51 | KM 23 51
VAN 0 |HiBEIHZ 23.05 |/MaH 23.05
R 0 | S5 3.56 | K5t 3.56
T T % 0 |¥bitisfE 15.1 |5t 15. 1
i % 0 | RIEH 5 18.65 | ¥t 18. 65
V6t 0 [WhE 25.25 | SYutf 25.25
7K 0 i 0 |/ 8.7 |1 8.7
o 16.1 | K 19.07 | L ¥Hr 2.97
RIS 10.7 | WARH A 17.53 |k 6. 83
KNG 0 |RIE 10.06 | & 10. 06
Mgt 172.73
i 0 |RTJE 12.8 | P4 12. 628
B % 0 |WI&E 22.73 |EEKT 18. 852
T 0 | ZRKKH 5 |H&HE 5.197
1 ] 1 0 |dbizim KHr 5.3 |IEHIIA 5 5.394
5K R 0 |5ikIHZE 26.35 | iYE I 25. 642
Hrhe BT E 4.8 |izi[ik 4.7
TR 0 |JUBRPY 33.4 |18 % 33. 004
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MM B LL ARG — R (Z)

B AT BRiS e B s e
= BE K 0 |&% 9.24 |ZF KK 9.252
FLI B 0 |fLE 13.65 | MFEIT 13. 65
T PN 0 |4k 6.6 | Kith 7.256
V5 R 0 |#K 18.1 |HIBHS 17.18
R R 0 |H&E 9.44 |2 9.417
A IH 2 0 |WIF5 15.5 | F1Jik 15. 133
i Hh R 0 &5 6.1 |WPHEk 6. 136
5K & B 0 |IKFE 9 |HHAMER 12
it Ay 0 |Vusk 4.25 | FHE] 4.226
¥ 0 |MYHIHEZ 7.855 |l 8. 409
KT B 0 |AKRHE 7.92 | TH% 7. 695
LAY 2 57 0 |HYEIHE 3.73 |R&EJLH 1. 744
EPN 0 | 5k 6.5 | KAt4t 7.034
ZE ] 0 | 2.623 | RBESHE 2. 623
E2 0 |fEE 8.67 | S A 8.51
VER 3 43.624 | LA 53.424 | G 9.8
KK R 9 | ¥k 10. 17 | K% 1. 17
K PG 7.6 |4 9.3 |FAHH 1.7
JE i 5.05 | K 6.785 |JLbERK 1.735
KA 6.7 |FEXIE 8.777 |AMRE 2. 077
Hig/hit 252.174
2t 461. 55

SAARE DI 17813 N F,
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